(BILP(0,0)) Maximize: 8ys + 3ya + 6ys + 12y =z
Subject to: —4ys + 2ys + 4ys +  8ys <6
dys + 3ys + 6ys + 12y <15
8ys + w1 + 2ys + 4ye <12
Y3, Y4, Ys, Ye S 1
Ys, Ya, Ys, Y6 >0
Y3, Y4, Ys, Y6 are integers.
y* =(0,0,1,0,0,13), z =19
(BILP(0,1)) Maximize: 4+48ys + 3ys + 6ys + 12y =z
Subject to: dys + 2ys + 4ys +  8ys <38
dys 4+ 3ys + 6ys + 12y <13
8ys + w4 + 2ys +  4dys <38
Y3, Y4, Y5, Y6 <1
Ys, Ya, Ys, Ye >0
Y3, Y4, Us, Y6 are integers.
y* =(0,1,45,0,0,55), z =%
(BILP(1,0)) Maximize: 2+8ys + 3ys + 6ys + 12y =z
Subject to: dys + 2ys + 4ys +  8ys <7
dys 4+ 3ys + 6ys + 12y <14
8ys + w4 + 2ys +  4dys <10
Y3, Y4, Y5, Y6 <1
Y3, Ya, Ys, Yo >0
Y3, Y4, Us, Y6 are integers.
y* =(1,0,£,0,0, %), z=%
(BILP(1,1)) Maximize: 6+4+8ys + 3ya + 6ys + 12y =z
Subject to: dys + 2ys + 4ys +  8ys <9
dys 4+ 3ys + 6ys + 12y <12
S8ys + w4 + 2ys +  4dys <6
Ys, Y4, Ys, Ye S 1
Ys, Y4, Ys, Ye 2 0
Y3, Y4, Us, Y6 are integers.
y = (1,1,,0,0,75), 2 =2
(BILP(0,0,0)) Maximize: 3ys + 6ys —+ 12y =z
Subject to: 2y, + 4ys +  8yg <6
3ys + 6ys + 12y <15
ya + 2ys + 4y <12
Ya, Y5, Y6 <1
Ya, Ys, Y6 >0
UYq, UYs, Y6 are integers.
y* =(0,0,0,0,0,2), z=9
(BILP(0,0,1)) Maximize: 8+3ys + 6ys + 12y =z
Subject to: 2us + 4dys +  8yg <10
3ys + 6ys + 12y¢ <11
ya + 2ys +  4dys <4
Ya, Ys, ve <1
Ya, Ys, Y6 >0
Y4, Ys, Y are integers.
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(BILP(0,1,0)) Maximize: 4+3ys + 6ys + 12y =z
Subject to: 2uy + 4dys +  8ys <38
3ys + 6bys + 12y <13
ya + 2ys +  4ys <8
Ya, Ys, Yo <1
Y, Ys, Y6 >0
Y4, Ys, Y are integers.
y*=1(0,1,0,0,0,1), z = 16 «— Integer Solution
(BILP(0,1,1)) Maximize: 12+3ys + 6ys + 12y =z
Subject to: 204 4+ 4dys + 8yg <4
Jys + 6ys + 12y <9
ya + 2ys + 4y <0
Y4, Ys, Ye <1
Y4, Ys, Y6 >0
Y4, Ys, Y6 are integers.
y*=1(0,1,1,0,0,0), z = 12 «— Integer Solution
(BILP(1,0,0)) Maximize: 2+3ys + 6ys + 12y =z
Subject to: 2uy + 4dys +  8yg <7
3ys + bys + 12y <14
ya + 2ys +  4ys <10
Y4, Ys, Y6 <1
Y4, Ys, Yo >0
Y4, Ys, Y6 are integers.
y* =(1,0,0,0,0,1), z =2
(BILP(1,0,1)) Maximize: 10+3ys + 6ys + 12y =z
Subject to: 2y 4+ 4dys +  8yg <3
3ys + 6ys + 12y <10
ya + 2ys + 4y <2
Y4, Ys, Ye <1
Y4, Ys, Ys >0
Y4, Y5, Y6 are integers.
y* =(1,0,1,0,0,2), z = %
(BILP(1,1,0)) Maximize: 6+3ys + 6ys + 12y =z
Subject to: 2uy + 4dys +  8yg <9
3ys + 6ys + 12y <12
ya + 2ys +  4ys <6
Y4, Ys, Y6 <1
Y4, Ys, Y6 >0
Y4, Ys, Y6 are integers.
y*=(1,1,0,0,0,1), 2 = 18 «+— Integer Solution
(BILP(1,1,1)) Maximize: 14+3ys + 6ys + 12y =z
Subject to: 24 + 4dys +  8yg <5
3ys + 6ys + 12y <8
ya + 2ys + 4y <=2
Y4, Ys, Y6 <1
Y4, Ys, Ye >0
Y4, Ys, Ye are integers.

Infeasible



